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QUESTION 1

An administrator adds a new user within a cluster that is running in a non-secure mode. In which file will the user name
be stored?

A. letc/VRTSvcs/conf/config/secure.cf
B. /etc/VRTSvcs/conf/config/main.cf
C. /letc/VRTSvcs/conf/config/types.cf
D. lopt/VRTSvcs/conf/config/users.cf

Correct Answer: B

QUESTION 2

Refer to the exhibit.

include "types.cf”
cluster default_clus (
Usernames = §
aaron = alkdsjfaldjaldfaH,
barbara = 1eruhrka%hkafhake,

carmen = urHkjreoHckajhuel,
dionne = 135d¥f351L]1rr1]1
edward = asd] ]EI'IE-|-EI¥'FLK'ID,
fung = EI _1|5'Idf ald :’
georgia = L k]Lr1LK]r eirka 1

administrators = { aaron
operators = { barbara, gecrg'm 1
counterInterval = 5

group groupl (

SystemList = { sysl =0, sys2 =1 ]
AutostartList = { sysl }
Administrators = { carmen ¥
Operators = { dionne }

group group? (
cystemList = { sys2 =0, sysl =1 }

AutostartList = { sys2 }
administrators = { edward 7
Operators = { fung 7}

Which two users can persistently freeze the service group group2? (Select two.)
A. aaron

B. barbara

C. carmen

D. edward
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E. fung

F. georgia

Correct Answer: AD

QUESTION 3

Two Process resources named ResourceA and ResourceB are configured in a service group using the command-line
interface. ResourceA is configured as a child to ResourceB, and the Critical attribute of ResourceB is modified from the
default value.

What is the expected result of shutting down the ResourceB process outside of VCS?

A. Both ResourceA and ResourceB go offline.

B. ResourceA is online and ResourceB is restarted.

C. ResourceB is faulted and the service group fails over.

D. ResourceB is faulted and ResourceA is online.

Correct Answer: D

QUESTION 4

Which components are installed when you execute the installvcs script? (Choose two.)
A. Bundled agents

B. Database agents

C. Cluster file system

D. Gab driver

E. Cluster volume manager

Correct Answer: AD

QUESTION 5

Clusterl is being merged into Cluster2. All the appropriate network heartbeat links are in place. The merged cluster
keeps the name and ID of Cluster2. On which cluster(s) will LLT need to be restarted?

A. Clusterl
B. Cluster2

C. Both clusters
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D. Neither cluster

Correct Answer: A
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